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Note :- Attempt five questions in all, including question No.

1 which is compulsory and selecting one question

from each Unit.

1. Write short notes on any ten in 25-30 words each :

(i) Economic growth and resultant change in the

structure of capital accumulation,

(ii) Human Capital

(iii) Augmented Kuznets curve

(iv) Lewis turning point
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(v) Interdependence between agriculture and industry.

(vi) Role of expected wage in Todaro migration
model.

(vii) Nurkse's views on Balanced growth

(viii) SOC and DPA

(ix) Definition of Foreign Direct Investment

(x) Role of MNC's in Economic Development

(xi) Economic functions of market

(xii) Government failure

(xiii) Choice of economic system

(xiv) Efficiency of competitive market

(xv) Trade as an engine of growth 10x2=20

Unit-I

2. Economic development implies change in the structure
of the economy. Elaborate. 15

3. Explain Kuznets inverted-U hypothesis and discuss
attempts that have been made to test it. JVzJYz

Unit-n

4. Compare Lewis model of agriculture industry interface
with Fei-Ram's Model. 15

5. Is reconciliation possible between balanced growth
and unbalanced growth strategy ? 15
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Unit-HI

6. Write a detailed note on three stories about Trade

and Development relationship. 15

7. Define Development 'Aid'. What are the main

constraints associated with development Aid ? 5,10

Unit-IV

8. Is a free market economy better than a perfectly

controlled economy ? Elaborate. 15

9. What are the main economic functions of the state ?

Discuss the role of state in the wake of the

Washington Consensus and Santiago Summit. ll/2,7l/2
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